BRACKET BH2M-KSG

(3H) 1 79 7%CRNORE . ASCRTEA 40 L—A (B%"-p720°4) &
RUIBLTTRL,

N/ X 2: KSG7U-2" CHAORKE . KSCEGTENIB 6FLEY T,

(IR17° 937)

(Note) 1:In case of mounting any instrument
using these brackets on a rack etc.,
please support it with a guide-rail

(or support angle-brackets etc.)

e X 2: To use these brackets

for a KSG series instruments,
modification on the instrument

Irﬂf @i,ré\ @ is necessary. (factory option.)
1 ! L.l
| | :
VT
r r
| $l0 d?\
&

[KSG SERIES| |T0S8010/3020]

NO DESCRIPTION aTy
BRACKET BH2M-KSG

SCREW, FLAT HEAD M3X0.5X10 B-NI
SCREW, FLAT HEAD M4X0.7X8 B-NI
SCREW, OVAL HEAD M5X0.8X14 B-NI
FINISHING WASHER 5CW

PRESS NUT (M4) 4089S

RNDib |

DA IN|WIN |

Z.1-000-160 TA001851



